Haiitu pemrenne 3amaan Komm s

OIIepalflMOHHBIM METOI0M.

11.

13.

15.

17.

19.

21.

/

r = -2
y = z—y
2(0) =1,9(0) =0

=

r — 4y
y = x+y
z(0) =0,y(0) =1
¥ = 2z—y
y = z+4dy
z(0) =1,y(0) =0

= 3r+y
y = —z+y
z(0) = 3,y9(0) =0
¥ = br—y
y = z+3y

xz(0) =1,y(0) =0
¥ = zT-y
y = 4x—3y
z(0) = 3,y(0) =0

¥ = 3z—y
{y’ = z+5y
£(0) = 2,5(0) = 1
= x-2y
y = 2x—3y
z(0) =0,y(0) =1

= =3x+4y
y = —z+y

x(0) =0,y(0) =3

¥ = —3x+2

y = —2r+y
2(0) = 1,9(0) =0

' = 12z 45y

y = —br+12y
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9 r = T4y
“ly = 8x+3y
2(0) = 0,y(0) =2

r = xT+y
y = —I-Y

r = —x+vy
y = —2x+y
z(0) =0,y(0) =1

3 ¥ = 3z+y
W = —z+5y

2(0) = 0,(0) = 2
122 — by

=
2(0) = 1,5(0) = 1

¥ = —x—10y
1200 e ia
2(0) =7,y(0) = —1
/ o — —
14.{32/ = 2z — by
y = x
2(0) = 7,y(0) = —1
¥ = z+y
1690 = ety

z(0) = 1,y(0) =2

' = dx+ 15y
y = —3r—2
z(0) = 7,y(0) = -1

= 3x—y
y = T+y
z(0) =1,y(0) =2

o5 + 4y
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xz(0) =2,y(0) =2

' = bx+ 15y
y = —3z—y
z(0) =1,9(0) =1
= T
y = —br—2y
2(0) =-1,9(0) =7
3z + 2y

=
{y’ = —10z—y
2(0) = -1,9(0) =7

—x+y

2z 4 5y

z(0) =2,y(0) = -2

—z—y
r—y

2(0) =1,5(0) =0

30.
{y’

—8y
2z

2(0) = 2,y(0) = 0
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= -3r—-—y-—=z
y = 6x+6y+52
2= —x-3y—2z
= 2x—y—=z

Y = —y

2= 2y + z
= —x+2y+3z
y = 2x—3y—2z
Z= —x+4+3y+3z

'= 2x+y+z

y = —y—2z

Z = y—4z

= x-2y—2z
Y= z+4y+2z
2= —x—y+z
= 3r—-y—=z
Y= —-x+5y+=z
2= 2rx+y+2z
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x+ 3y
3 —2y — 2
—y+z

3z — 2y + 2z
dxr — 3y — 2z
r—y+2z

2z —y
dxr — 3y — 2z

—Z

3x+y+=z
20+ 2y + 2
z+y+3z

5x + 2y + 2z
3z + 4y — 3z
—2x — 2y + 3z

r+y+z
3x+y+z
3x — 2y + 4z
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2z 4 2y
20 — 2y — 2
—y+ 2z

—r+y+z
r—y—+z
r+y+z

6z + by + 62
—3xr—2y—=z
—rz—y—3z

2y —=z
rt+y—=z
—r+y+=z

Ty
—r—2y+ 3z
3y + 2

—3x — 2y + 2z
3x+3y — =
204+ 3y — 2

r+y+z
rT—Y+z
rT+y—=z

dx + 3y — 2z
rT+y+z
T+3y+z

—r+2y+z
T+ z
4o — 4y + 22
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r—y-+z
20 -2y + 2
-5z + 2y + 4z

rT—Yy+z
r+y—=z
2z — vy

3z —y+ 3z
3 —y+ 2z
—2x 4+ 2y — 3z

3x — 6y
—6z — 3y + 22
2y + 3z

204y —z
2¢ 4+ 3y — 2z
—2z 44y — 3z

—3x — 2y + 4z
—r+2y+z
—2x 4+ 2y + 32

4z — by + 2z
rT+y—=z
T+ 2y — 2z

—2x+ 3y — 2z
y— 2z

—Zz

—y—2z
T+2y—z
—2z—-2y+=z



